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STAR PUBLIC SCHOOL

Dear Parents,
Today's assignment ( class 1st)

.~ Maths - Worksheet

.~ Hindi Grammar - 918 1 gHIRI HTHT
( page number- 5 & 6) in Book

.~ EVS - Name the Following in
Notebook
.~ Zumba
Home Assignment -
'~ Hindi - 918 1 ( page number -6 )

Bring EVS worksheet Tommorow
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1. Learning Numbers 1 to 20

) Worksheet

hoose the correct answer.
. What will be the number name for 8?

(@) eihgt (b) eight (c) eeight (d) egiht
2. Which number is the smallest among the given numbers?

(@) 6 (b) \;’ () 5 d) 3
3. What comes before number 7?

@ ¢ (b) 4 © 7 d) 9

4. What comes after number 5?

@ 2 (b 9 (© 4 W6

5. Choose the correct ascending order of the given numbers.
3,8,2,9
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@ 298,3 (b) 8,3,2,9 (© 28,9 d) 9,83,2
B. Fill in the blanks.

. Number five comes after |- O3 10 .
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2. The number name for number Sis - | -
3. The number name for number 9is / y‘ 'ur)f. .
4. Number 6 comes before | .

5. Acricket ball is . ”thq&j dbasketball. (smaller/bigger)
. Wr

C. Write True or False.

1. The numeral 4 is written as fourT
6is between 5 and 8. F
Lion is smaller than giraffe. )
Two is less than 5.

9is more than 6.T
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hort Answer Type Questions

1. Arrange the numbers 4, 2, 1, 6, 7in ascending order] /Z_ /L.ﬂ/ £

2. Arrange the numbers 7, 3,2,59in descending order( 7, é O/

3. Countthe number of apﬁlcs given in the picture and write i 4 r%u%ﬁer name
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4. Countthe number of objects and find the number that comes just before it.
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5. Count the number of objects and find the number that comes just after it.
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E. Long Answer Type Questions
1. Count the animals and write their numbers and number names.
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~ countthe number of objects and write itin a circle. Then colour the box with the nurmber that
comes just before it.

XXX

O @
! g1

A Th\// \ /) / \/

* o B O B D DG
Fab WA T\

7

‘ 3. Make the number of flowers equal on both sides by drawing more flowers.
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F. Choose the correct option out of the following choices for the given assertion and reason

questions.
(a) Both Aand Rare true, and Ris the correct explanation of A.

(b) Both Aand Rare true but Ris not the correct explanation of A. :

(c) AistruebutRis false.

(d) Aisfalse but Ristrue.
1. Assertion (A): If Aman has 4 cookies and he eats 4 cookies, he is left with 1 cookie.

Reason (R): If Aman has 4 cookies and he eats 4 cookies, he isleft with 0 cookie.
2. Assertion (A): 2ismore than 3.

Reason (R): 2 is less than 3 and comes before 3 in the counting.Q)
3. Assertion (A): Between the numbers 6 and 3, 6 is the bigger number.

Reason (R): Since 6 comes after the number 3, thus 6 is the bigger number.

4. Assertion (A): When we coimt, each number represent more object than<tie previousC
number. L
Reason (R): Counting involves adding one each time to move to the next number, which
represents an additional object.

5. Assertion (A): 10 is more than SC
Reason (R): A bigger number always comes before a smaller number.




etency-based Questions
more cups?
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H. Apply Your Learning
1. Aryan bought 9 marbles. Tisha bought 4 marbles less than him. How many marbles did Tisha
?
buy? O bles  1n ! Lo
2. Kishore has 7 balls. Joseph has3 balls more than Kishore. How many balls does Joseph have.

3. Naina has 3 two-rupee coins. Aniket has 2 one-rupee coins. Manisha has 1 five rupee coin. How | %
much money do they have altogether?
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|. Questions Based on Higher Order Thinking Skills
1. How many bricks will be there in the 5th layer? '

| 1*layer

| 2™layer

g

4™ Jayer

2. Solve the answers given in the box. Then arrange them in the form of descending order.
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